ARNTEREFSREHFEHT - AOKEFR

TR 25FE5 A KRB
TR 25458 XKH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BRAZERAROD 26,574 34,647 37,002 71,649 BAANEFRAQ 26,564 34,665 37,024 71,689
SNEAERAO 187 227 238 465 SNEAERAO 185 227 237 464
KENMAB 26,761 34,874 37,240 72,114 KENHAB 26,749 34,892 37,261 72,153
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR EETHbiz AR EHET 1,051 1,429 1,413 2,842 B — Al =2 254 307 340 647 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 790 906 952 1,858 o . ¥ /N 122 164 175 339 HWmE—TH 793 899 1,005 1,904 wu&aE—THB 0 0 0 0
2 T 75 Hh 35 AKHET T 204 213 234 447 =H 111 149 156 305 WEZTH 559 683 759 1,442 WUE=TH 0 0 0 0
ZA T B Hh 3 N 866 1,005 1,073 2,078 A T S B 70 91 106 197 WE=TH 263 332 387 719 WILE=TH 0 0 0 0
TR s TR 1,005 1,234 1,359 2,593 KEf 196 243 242 485 WEMTH 198 260 291 551 WILEMTB 0 0 0 0
T/ E i H/E 47 565 602 1,167 ETEFE 18 27 28 55 WEATH 766 1,045 1,151 2,196 BWILERTHB 0 0 0 0
K2 A EELW 191 230 275 505 FAFTET 17 177 215 392 FENARTH 88 117 122 239 WILEARTE 0 0 0 0
ma 106 163 156 319 T Hh i FhTET 124 142 155 297 HWEtTH 185 253 265 518 wWLUEtTH 44 62 68 130
T Hh i iR 256 323 369 692 At FET 131 175 167 342 HES—TH 0 wWILE/NTB 0 0 0 0
AR s ZAR 1L 96 108 145 253 Fa ET 172 218 261 479 HEEZTH 222 309 313 622 WILEATE 0 0 0 0
KE 819 967 981 1,948 iclii) 16 22 29 51 HEEB=TH 10 10 12 22 wua+TE 0 0 0 0
dt 2 [E iz ZzE 446 518 518 1,036 i = Hhig Fh T 35 33 48 81 HEEMTH 0 wua+—TH 0 0 0 0
ot B st i 161 194 190 384 BRHET 103 117 133 250 HESRTH 277 347 394 741 BWuE+=TH 0 0 0 0
i) i 187 221 230 451 % 80 79 105 184 HEBARTH 174 235 247 482 BWUE+=TH 0 0 0 0
4 this He 2,852 3,589 3,980 7,569 RifiFE 139 162 192 354 HEELTH 340 402 444 846 INEt 44 62 68 130
HZE A Hhis HES 1,664 2,083 2,284 4,367 AR o ERE—TH 51 58 71 129 HES/NTH 380 495 535 1,030 =1 11,120 15,431 16,270 31,701
BRI & AENE1~4TH 783 1,002 1,099 2,101 BRE—TH 284 336 370 706 HEEALTH 261 285 339 624
a2 & Ki2)I185~9T B 1,492 2,348 2,365 4,713 ERE=TH 43 64 68 132 AZN&—TH 341 423 465 888
W B & Hhis MWERE 2,136 3,163 3,251 6,414 il 63 63 73 136 KEZJNEZTH 101 126 139 265
¥ 35 A Hhig i) 2,149 3,184 3,223 6,407 izt 37 25 4 66 KZJNE=TH 341 453 495 948
LA Hh i wIlE 44 62 68 130 it 39 52 57 109 RENEMTHE 0
=11 17,769 23,507 24,767 48,274 hnyE R ER iz INGE 58 58 66 124 KENEBEETHE 241 409 392 801
INST 80 78 81 159 KZNEBATHE 561 818 819 1,637 (FH)
BARAFREHE - AOSEETF (IHIWLHEET) 447 85 90 109 199 R2NEETH 326 508 521 1029 X4 ik 5 % s
(LI EH 28 37 43 80 KENEBE/NTBE 364 613 633 1,246 mmEae—TH 163 210 222 432
1T 4 B R X 3 L 5 g &t HERE 104 112 131 243 KENEATE 0 EMXE=TH 139 156 185 341
5 F st tisE 179 253 304 557 fit] W} 118 160 163 323 MWREE—TH 493 755 726 1,481 EMEXE=TH 141 162 188 350
[Fap il 396 563 587 1,150 TR 100 115 146 261 MREEZTH 120 187 188 375 AmEemTH 119 133 154 287
dt 3 E thig TEE 387 582 587 1,169 [i] 47 53 60 113 MWRE=TH 237 350 377 727 EME&ETH 54 66 70 136
T E i MTE 646 876 909 1,785 HRIR Hhig H 32 38 43 81 MREMTH 263 365 392 757 mAMmXEaNTH 164 197 209 406
HEF 60 62 90 152 BRI 65 71 92 163 MWRERTH 250 390 403 793 mmEaetTH 150 193 215 408
=58 desal R 132 185 200 385 IhEF 72 86 99 185 MWRENTH 290 420 424 844 EmE&/\TH 184 233 249 482
B 221 356 383 739 mp 35 47 54 101 MWREETH 263 400 413 813 mAMXaEATH 187 225 243 468
e 46 47 71 118 L3 G 39 4 51 92 MWRE/NTH 220 296 328 624 mmEae+THE 184 217 234 451
+A1 53 78 90 168 A 36 43 47 90 wmEE—TH 276 323 330 653 mmEse+—TH 253 311 335 646
EI\2 131 168 209 377 B/ 13 17 16 33 BEE-TH 362 540 522 1,062 mEmnEe+=TH 215 295 292 587
IRt &R i £33 74 99 130 229 N 5 6 5 11 BEXE=TH 332 533 541 1,074 mmEae+=TH 154 190 204 394
tiRa 54 75 84 159 CiEgN 32 48 47 95 HwEEMTH 268 410 435 845 mEmnEE+mTH 121 160 177 337
a5 97 140 142 282 BTF 20 30 27 57 BEERTH 338 527 554 1,081 mAnEae+aETH 135 185 170 355
tiae 148 183 200 383 4 2 ik ETFF 15 22 22 44 BESNATH 297 497 493 990 =X 2,363 2,933 3,147 6,080
ER\7 67 91 86 177 = 10 13 12 25 mEELtTH 276 354 348 702
LRt ithig EIA8 95 126 127 253 =2E 9 7 11 18 wmEE/NTH 0 0 0 0
ti¥a9 113 140 159 299 i35 6 6 5 11 INET 11,076 15,369 16,202 31,571
ti\E10 89 112 134 246 K4 13 11 16 27
WEXN 27 28 27 55 it 30 44 50 94
= REX S 5 6 6 12 %53 46 53 75 128
LR 65 47 60 107 FIN% & g Emxs 2,363 2,933 3,147 6,080
=11 3,085 4217 4,585 8,802 =1l 5,720 6,923 7,650 14,573




